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50HZ i E 52%2”%’%%

S UM RS (A) 85,706 kI X («a) 0.0048 0.1970
R FEHm R (B) 94,6109t X (B) 0.3827 0.4435
+) EEIECEHS (C) 23,973\t X (y) 0.6584 0.2512
SERBREMERS | 52,4000 64,9001kl

HEmEMER| 86,1000  44,200|1 kI
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TEREHIRS 23 EHERNRHI RS 2 B[RS 72 355
POEH R R B = CEREHMIAE — ZYEIORHMEAR) X ZEHEELE 71,000 (777 XFHEK)
TEREHRS 23 EHERNRHI RS 2 T IRl > 72855
PROEH R R B = (EYERVEHMIAE — SERBBHlA%) X ZEHEELE 1,000 (=17~ RFHEK)
(I 3 IR LA T B 3L TG T A)

(50Hz 1EJE)
PREI IR ET= (86,100 - 52,400 ) X 0.183/1,000

I 617 kwh et 2T

B SR B | & e -6.17 [ /kWh - 2.5 “kWh (BUfZEEEF )
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(50Hz &)
PREMVE B E A= (64,900 - 44,200 ) X 0.224/1,000
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P S AR B | & Sk 4.64 M,/ kWh - 1.3M kWh (BUF3ZEEES )
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2 A (A) 85,706/ kI X (a) 0.0275
S RCEH S (B) 94,610t X (B) 0.4792
+) SEEFEHmAS (C) 23,973t X (y) 0.4275

TgEHE#E | 57,900], kI
HAEPOBHIRE [ 45,900]F, /Kl
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IR RS 23 RO AS 2 B[RS 72 355
POBHE SR B — CRERRBHIAE — ZTERORHEA) X Z¥EHE 1,000 (77 2FHE)
ISR 23 R HERRR A 2 T Rl > 72 35 6
PROBHE SR B — (ERYERRBHIAS — SPERBOBHlA) X ZE¥EHLE 1,000 (=17 ZFHE)
(B3 N LA T BB 3L TS T )
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PRBME R E M = (57,900 - 45,900 ) X 0.233/1,000
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S UM RS (A) 94,610[H kI X («a) 0.4381
+) ERIREHmR (B) 23,9731 't X (B) 0.5545
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WREL R SR B Bifli= (PR 0BHETAR — ZYERRBHEIAE) X ZXE B/ 1,000+ E0TH 55 Bl (77 AFRE)
EIREHIAR 23 EEHER AR 2 T el > 72 &

WREL R TR B B A= (R YERRBHETAE — SRREHIEEE) X EHERAT/1,000+ENTH 5 Bl (=1 7~ RFRE)
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(60Hz &=FF)
PREVER IS Hfli= (54,700 - 42,000 ) X 0.196/1,000 +( 13.05/-19.37) X 10.3%
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B SR B | & e 1.84 M,/ kWh - 1.3M kWh (EfF S E5 | &)
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(60Hz HRIEE)

PREMVE B H A= (54,700 - 42,000 ) X 0.196/1,000 +( 13.05|-19.37) X 10.1%
= 1.81|M./kWh
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